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VALUE & NON-VALUE IN SERVICES

Bruce et al
 

I ask your indulgence in sending the following commentary which is unrelated to the topic of Bruce's latest piece.  I do so in order to convey to those of you who may be interested some thoughts and questions as to how we measure economic activity.  In part, it is an attempt to my own earlier query a few weeks ago about whether consumer cost is calculated in standard productivity figures.  This commentary extends the line of inquiry to raise the issue of whether we accurately estimate the added value of transactions in the service sector.  As I non-economist, I am truly curious about these matters and welcome instruction - or even remedial teaching.
 

Economic science is not without its uncertainties – and its mysteries.  Several stem from difficulties in rendering service sector activity in standard measurement categories, especially the calculation of value added.
 

Consider the following.

 

Harry ‘X’ is an independent commercial artist.  He receives a fee of $1,000 from an advertising outfit for work done on a pharmaceutical company ‘A’ ad aimed at consumers/patients that touts the virtues of a new prescription drug.  (Transaction 1).  Harry ‘X,’ approaching 65, pays a health care advisor $1,000 to help sort out the 70+ brochure offers he has received in the mail for accessing the prescription drug benefit.  (Transaction 2).  The health care advisor pays a financial consultant $1,000 as initial payment on preparing an investment plan for retirement.  (Transaction 3).   The financial consultant pays $1,000 to a Medicare licensed provider of residential care services for his mother who is a Texas resident.  (Transaction 4).  The facility pays its administrative staff $1,000 to submit a claim (along with others) for a matching amount to an intermediate private company (company ‘Z’) that is contracted by the state of Texas to make such distributions.  (Transaction 5).  Company ‘Z’ pays its administrative staff $1,000 to submit a claim for reimbursement (along with others) from the state of Texas. (Transaction 6)  The state of Texas pays $1,000 to a private company ‘Q’ to administer a student loan program for students enrolled at the state university campuses. (Transaction 7).  Harlan J, senior partner in ‘Q’, pays $1,000 to a stock broker for purchase of equity in pharmaceutical company ‘A’ (Transaction 8).

 

Each of these transactions registers as an addition to GDP – using conventional statistical measures.  The aggregate is substantial.  But what has been the actual increase in national wealth?  What value has been added to the economy by them? to the national welfare?  Individuals have received some services, but what is the real value of that good?  If the transaction amounts had been $2,000 instead of $1,000, would that mean we had added twice as much value to GDP? twice as much benefit to purchasers of services? Or are we taking the VELOCITY of money as an exact measure of economic activity?  Let us consider the implications.

 

Implication 1.  A service sector organized to maximize transactions would be registering greater economic growth than one that minimized them to serve the same ends.  Therefore, the more inefficient the system, the wealthier the country would appear to be.

 
Implication 2.  A national economy where these services were privatized would register markedly greater growth than one that concentrated them in more rationally organized, lower total cost public agencies.

 

Implication 3.   The American health provision ‘system’ spends 45% more than anyone else as a fraction of GDP, this although 50+ million are without any or have only minimal coverage.  This correlates with uniquely high velocity of money involved in transactions in the health services sector.  What is the connection, in real terms, between the monetary value of those transactions, conventionally measured, and the provision of actual services to those in medical need?  How accurate is the statement of GDP in the first place since a large fraction of it is measured in terms of money velocity?

 

A Proposal:  Move to a single-payer, unified, defined benefit pension system.

                     Do the same for health care.

                     Make the federal and state governments the source of student loans.   

                     Move toward public provision and/or rigorous oversight of day-care and nursing home   facilities.

 

         The result would be a more efficient, more honest, and more reliable system for providing services and meeting       needs.  (Consider the excellent performance of the Social Security Administration).

 

There would be huge savings from a sharp reduction in the number of inefficient transactions, i.e. transaction costs of all kinds would plummet. The GDP numbers, as currently calculated, would fall in the short-run.  They would increase, by any measure, to a substantial degree over time.  Why?

 

1. Think of the enormous human resources that would be freed up for application to economically more productive pursuits.  A legion of trained, skilled and highly motivated persons no longer would be needed as advisors, consultants, brokers, managers, publicists, lobbyists, etc.  However, in order for the economy to benefit optimally from this ‘creative destruction,’ a few conditions would have to be met:
 

a)      we should avoid public policies that offer incentives for members of this talent pool to stay out of the workforce, e.g. reduced inheritance taxes, tax sheltered severance packages, provision of off-scale salaries for ‘consultants’ to new/expanded public bodies.

 

b)      persons who experience drastic reductions in income should be encouraged to see the requisite adjustments in    life-style as serving as a model for lower paid worker who have been experiencing declining net income and increased job 
insecurity for some time and will continue to do so.

 

2. Think of the hundreds of millions of man-hours that Americans at all levels will save as they no longer will be spent on the activities noted above: reading, pondering, preparing, meeting, discussing, worrying.  That translates into more quality time with children, thereby improving their study environment and motivation; enhancing work related skills; staying physically and mentally healthier through recreating, thereby being more productive workers and less of a burden on the medical system; and raising their level of citizen consciousness so that the United States never falls back into the bad old habits that were such a drag on the real economy, eroding competitiveness; and, thereby, hampering America’s rolling adjustment to the new realities of globalized markets. 
 

An ‘externality’ would be alleviation of a great amount of individual and social distress. 

 

